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Note : Attempt all questions. All questions carry equal 

marks. 

1. (a) Discuss in detail, the different types o f 
questions. 	 10 

(b) What do you understand by derivational 

and inflectional affixes ? Bring out the 

differences and similarities. 10 

2. Write short notes on any two of the following : 

2x10=20 

(a) Free and Bound Morphemes 

(b) Stylistic Features of Indian English 

(c) Countable and Uncountable Nouns 

(d) Conventions Observed in Conversation 
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3. Write short notes on any four of the following : 4x5=20 

(a) Types of Affixes 

(b) Degrees of Comparison 

(c) The Notion of Registers 

(d) Conversion as a Morphological Device 

(e) Influence of Native English on Non-native 

Varieties of English 

(0 Types of Negation 

4. (a) Identify the root, prefix and suffix in the 

following words : 

(i) uneasiness 

(ii) misconstruction 

(iii) irrelevantly 

(iv) impracticality 

(v) unemployment 

(b) Add prefixes to make antonyms of the 

following words : 

(i) complete 

(ii) legitimate 

(iii) justice 

(iv) patient 

(v) honest 
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(c) Form 	appropriate 	wh-questions 
corresponding to the underlined parts in 
the following sentences. One has been done 
for you. 

Virat Kohli made 90 runs  in the first 
innings  

How many runs did Virat Kohli make in 
the first innings ? 

(i) I studied in St Andrews College. 

(ii) I went to Kolkata last year. 

(iii) We are three brothers and sisters. 

(iv) This is my mother's  book. 

(v) She went to the market to 
buy a pair of shoes. 

(d) Use appropriate forms of the verbs given in 
brackets : 

(i) The train (leave) before we reached 
the station. 

(ii) He (work) in this office since 2012. 

(iii) I (leave) Mumbai last year because I 
was transferred to another city. 

(iv) I (try) my best yet I could not 
complete the paper. 

(v) Ramesh (look) very unhappy today. 
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5. (a) Rewrite the following sentences correctly : 	5 

(i) The scene look very beautiful. 

(ii) The train has left at 2 o'clock. 

(iii) I am not having any difficulty in this 
lesson. 

(iv) What the hell you are doing here ? 

(v) The book belongs to Nita, isn't it ? 

(b) Mark the stress in the following words : 

(i) aloud 

(ii) attendance 

(iii) absurd 

(iv) affection 

(v) advantage 

(c) Give the comparative and superlative 
forms of the following adjectives : 	 5 

(i) thin 

(ii) intelligent 

(iii) bad 

(iv) dirty 

(v) merry 
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(d) Fill in the blanks choosing the correct 
option from the brackets : 

(i) Earning his bread and butter 
	(are, is) his sole concern. 

(ii) Neither of the two 	 (is, are) 
trustworthy. 

(iii) This pair of scissors 	 
(belong, belongs) to me. 

(iv) Not only the terrorists but their 
leader also 	(have, has) been 
captured. 

(v) 'Gulliver's Travels' 	 (were, 
was) written by Swift. 
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